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Q.No: 1  Ustad Alla Rakha Khan and Shafat Ahmed Khan were the leading exponent of which musical instrument?

2427048
JIE Sl I WA IR T SgHe T g are 93 F yge wfaues 37
Shehnai
A
T
Tabla
B
GEE )
Ankya
Cc
k)
Kamaicha
D
DHRE

Correct Ans : B

Subject : General Knowledge

Q.No: 2 Choose the false statement about Subhas Chandra Bose.

2427998
THN % 9N F IR H Td BT I
Bose did not share Gandhiji’s ideal of ahimsa
A
o 7 e & arfgR & smaf P T
In January 1941, he secretly left his Calcutta home, went to Singapore, via Germany, and raised the Azad Hind Fauj
B
Sad 1941 H, IFA W T Y SIUAT Hodhl TR SIS o, Sl & IR RIMR 1, $iR 3G e W # R St
In 1938, he became the President of Indian National Congress
C
1938 ¥, 3 HRT gt B e T
In 1942, the Azad Hind Fauz tried to enter India through Imphal and Kohima
D

1942 ¥, I f§E VIV 7 SHTA 3R HIRAT F AerH F YR F YA B BT Y fpar

Correct Ans : D

Subject : General Knowledge

Q.No: 3 Taxation and Government spending are tools of which of the following policy mentioned below?
2428980

FRIYF IR WHR T Ffared 7 § f5a i & Sua=o § et Iera = v m 2

Contractionary Policy

A
e A
Expansionary Policy
B
fowr® Hifa
Monetary Policy
C
e A
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Fiscal Policy

I i

Correct Ans : D

Subject : General Knowledge

Q.No: 4  The Salt Satyagraha was started by Mahatma Gandhi from the-

2432436
TP GG HTHT e} 9 ------- J g faa1 4l
Panwar
A
TR
Kachh
B
o)
Sevagram
C
JaaH
Sabarmati
D
A

Correct Ans : D

Subject : General Knowledge

Q.No: 5  Who does the work of controlling both the quantity of money supply and the quantity of credit?
2434068

o1 @1 gt & afRkmmr 9RO Bt A S o) FEfd B & e B FRar g ?

Finance Ministry

A

ek

Central bank
B

Flia d

Council of Ministers
C

Hiufeg

Central government
D

F% WIR
Correct Ans : B

Subject : General Knowledge

Q.No: 6  Which of the following newspapers supported the Vernacular Press Act-1878?

2435717
Frofafea & 4 fog TR v 7 Fieger 09 ae-1878 & wadH faar
The Times of India
A
% TR i s
The Hindu
B
afeg
The Pioneer
C
g g
The Hindustan Times
D

 fegedm egma
Correct Ans : C

Subject : General Knowledge
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Q.No: 7
2435812

Which of the following is not a part of Himalayan range?

78§ P fRuraa Joft 1 e T &2

Pir Panjal mountain range

YR dorer uda it

Dhauladhar mountain range

e uda Joft

Zaskar mountain range

TR o ot

Aravalli mountain range

SRTact uda Aot

Correct Ans : D

Subject : General Knowledge

Q.No: 8
2437104

Which Indian sports person has been most searched in the search engine Google in 2021?

I o T WR 2021 F g yrdi fRard) @ 98 ofie aR @ion T 87

Virat Kohli

forTe Piedt

Mirabai Chanu

T =1,

Neeraj Chopra

AR T

Mahendra Singh Dhoni

e Rig a

Correct Ans : C

Subject : General Knowledge

Q.No: 9
2440750

Baul folk song is related to which of the following Indian states?

da die Ha e & 9 fFe urda e 3 gafia 82
Uttar Pradesh

JW W™
Madhya Pradesh

T Y™

Bihar

R

West Bengal

o3y e

Correct Ans : D

Subject : General Knowledge

Q.No: 10

2440838
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Swimming

A

i

Ice Hockey
B

3TEE gt

Fencing
C

BRI

Rugby
D

k|

Correct Ans : B

Subject : General Knowledge

Q.No: 11  Which proposed ring road around a Madhya Pradesh city will now be a part of the Bharatmala project?
2441022

Y YRR & YR B IRT IR B 1 Raifdd for s sfq yRerHTen uRaier @1 iRk g

Sagar
A

R

Indore
B

&R

Jabalpur
Cc

SR

Bhopal
D

arer

Correct Ans : C

Subject : General Knowledge

Q.No: 12 Who built the Devgarh Fort of Chhindwara?

2441121
RqareT & Same b o1 Fmior feae Heamn e
Raghuji 11
A
el 11
King Jatav
B
TSl SIcd
Bhakth Buland Singh
C
& gue e
Rajendra Pratap Singh
D

IeiE W g
Correct Ans : B

Subject : General Knowledge

Q.No: 13 In which Indian state the famous actor Arjun Rampal was born?

2441280
URIG ST S T BT S e HRdt e & gam e
Jammu & Kashmir

A
o 3R Bk

B Madhya Pradesh
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T W

Uttar Pradesh

C
R U
Maharashtra
D
HERTE

Correct Ans : B

Subject : General Knowledge

Q.No: 14 The famous Bollywood singer Palak Muchhal was born in which city of Madhya Pradesh?

2441304
Rig sidligs MR®T Tas Ta o1 S e U $ fba TR 1 geir ur?
Bhopal
A
aifarer
Indore
B
R
Gwalior
C
IR
Khandwa
D
gsar

Correct Ans : B

Subject : General Knowledge

Q.No: 15 Which of the following towns have the tourist spot of the well-known Mango yard?

2441347
Frafafaa & & fea wex § ufrg § a18 &1 wied =i g2
Alirajpur
A
STRIRTSTR
vidisha
B
fafe=n
Ujjain
c
ek
Betul
D
g

Correct Ans : A

Subject : General Knowledge

Q-No: 16 Which of the following districts borders Uttar Pradesh?

2441456
Frofarea & & fra o @) fm S mew § @ 32
Bhind
A
fis
Rajgarh
B
Ry
C Jabalpur
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Dhar

YR
Correct Ans : A

Subject : General Knowledge

Q.No: 17 Madhya Pradesh State Biodiversity Board has been constituted by the State Government as per the provisions of Biological Diversity Act, notified by the Governme
2441510 [ndia.

T YA X Oid fafderar 41 T 6 YR IR GRT SRgfad ofew ffduar sfdfam, & uaurl & SER 50 WeR g far w1
1999

1999
2002

2002
2008

2008
2012

2012
Correct Ans : B

Subject : General Knowledge

Q.No: 18 Who among the following is the Minister of Scheduled Castes Welfare Department in Madhya Pradesh?

2441764
Frofarea & & @9 7 1w § Sfgyfed Sifd e faum & 15 g7
Smt. Meena Singh
A
it w7 e
Kamal Patel
B
HHA U
Govind Singh Rajput
Cc
RUECAEERELGE
Gopal Bhargava
D

QeI GRT UG

Correct Ans : A

Subject : General Knowledge

Q.No: 19 is the main crop of Damoh.
2441798
T 3 e B € -
Chick-pea
A
FrEgelt T
Lentil
B
RS
Millet
c
ORI
Gram
D
= (TH)
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Correct Ans : D

Subject : General Knowledge

Q.No: 20 Which district houses the fish seed production farm in Jevnara village?

2441816
ST i & Fee de Iene B e R fRud @2
Sagar
A
R
Shahdol
B
RG]
Seoni
C
Rt
Sehore
D
R

Correct Ans : C

Subject : General Knowledge

Q.No: 21 Which of the following is used to measure the atmospheric pressure?

2425743
w8 & e vl s @i AT % Ry Rea s 2
Anemometer
A
e
Barometer
B
Rfiex
Ammeter
C
R
Thermometer
D
YR

Correct Ans : B

Subject : General Science

Q.No: 22 What is the study of energy and matter transitions as they approach equilibrium?

2425900

Fut 3R Ut & THIU BT AT T ¢ S 3 Ige b HYa Ugad 82

Equilibrium thermodynamics
A

Tga Savafist

Classical Thermodynamics
B

T SoATaRT

Chemical Thermodynamics
C

RIS SHEvafEt

Statistical Thermodynamics
D

vt Swvafet
Correct Ans : A

Subject : General Science

Q.No: 23 Our living organisms (mostly humans) place should be:
2428990
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AR Sfifad Siidl (STERR $9MI) ST RIF g a1feu:

Open place
A

et og

Closed place
B

¥

Clean place
C

b S8

Unclean place / Untidy
D

IS VM / SRaD
Correct Ans : C

Subject : General Science

Q.No: 24 Which one of the following is the wrong purpose for National Parks in our country?

2429107
PR & & @ & gaR 3 & T Sal ¥ Ry T 9w 32
National parks protect places of natural beauty.
A
TP S WP el & WIFHT Bt 4T F ol
National park is home to many endemic species.
B
TP SN F RATF WAl BT R g
They also protect places important to aboriginal people, and places that show how people lived in the past.
C
T fEardt ARl & fRiw eyl WET SR 3 T Y ot a1 va & o e B fr A ekia A ¥ wa A
National parks are not protected areas.
D

TP T TR & T &
Correct Ans : D

Subject : General Science

Q.No: 25 Herbivores eat only

2429231
TFER PG wAE
Producers
A
CLICEa
Herbivores
B
Rucaltil
Both plants and meat.
C
o o w AN
Omnivores
D
walerd

Correct Ans : A

Subject : General Science

Q.No: 26 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2429934 the correct answer to the question from the given options.

Assertion: (A) Body thin, soft, leaf-like or ribbon-like.

Reason: (R) The organism belongs to phylum Platyhelminthes.

e Frafefed vy & & FuF § R A T &) sy @ IR R B SR F w0 F Aqa 5 w1 ) e 37 I Ful Y GrayridE S S § iR i e e § @ uy a1 9 Iw
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Y (T) IR udan, garw, oeht o ar Re S

PR (R) Siig WA wgam ¥ Tefte g1
(A) is true but (R)is false.

A
(A) 9§ Afb (R)Ted B
(A) is false
B
(n) TR
(R) is false.
C
(R) T@ R
(R) is the correct explanation for (A).
D

(R) (A) ¥ frg ot wdfiaor 21
Correct Ans : D

Subject : General Science

Q.No: 27 Sponges belongs to

2429966
T P GdY §
chordate
A
HisT
non-chordate
B
R-pisc
hemi chordate
C
Hoise
balanoglossus
D

ECEIEE

Correct Ans : B

Subject : General Science

Q.No: 28 Complete combustion takes place in which zone of candle flame?

2430160

T 3 o 3 R 47§ ol 2 i 32

Inner zone
A

SffaR® &%

Outer zone
B

el &7

Middle zone
Cc

o &

Dark zone
D

I W

Correct Ans : B

Subject : General Science

Q.No: 29 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2430361 the correct answer to the question from the given options.

Assertion(A): When a comb is rubbed with dry hair it attracts small bits of paper.

Reason(R): When the comb is rubbed with dry hair, it gains electrons from the hair and acquires a negative charge.

e fofafed uy & < $uF € e 8§ 0@ @1 iy " 3R g S "SRU & FY F A9 507 T 31 9D 37 S Sl Bt grayHigde o St § SR U e fawed! F @ Uy 31 98 Sw
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S (A) : TF FH BT YR Tl G TIST I A I§ DI F BIR-BIE HS! B BT Bl ¥
PR (R) : OIF Bl B GW Tl A TTST 11 ¢, df 9% Il I AT T60 et ¢ 3MR THUMSTH S U IR Al g

Both A and R are true

A

A IR R gF v §

Both A and R are false
B

A 3R R T o §

A is true but R is false.
C

AT 3 A R 9 31

A is false but R is true.
D

ASHI R AT RIT T
Correct Ans : A

Subject : General Science

Q.No: 30 Which of the following vitamins is also known as ascorbic acid?

2430965

Frafafea & 3 o @ faafi weiide s & # off o o 82

Vitamin D
A

faere St

Vitamin A
B

[EEERY

Vitamin C
C

e

Vitamin B
D

e &

Correct Ans : C

Subject : General Science

Q.No: 31 What is the name of the method of converting a solid to a gaseous state without going through the liquid state?

2431608
%A SaRT § o o ot 3 T Rt s # weas @i fafdy a1 & AW 82
Melting
A
RIGE]
Sublimation
B
e
Evaporation
Cc
qrefieRor
Condensation
D

Bsiaec
Correct Ans : B

Subject : General Science

Q.No: 32 For frogs, thyroxine production requires the presence of in water.
2432485

Agal § YR Iware & g art & o) Fufifa @} saxaear g 21

A Iodine
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SRS

Magnesium

B
HRAT
Potassium
C
e
Calcium
D
Hfem

Correct Ans : A

Subject : General Science

Q.No: 33 Asbestosis is actually a/an disease.
2434308
TRERY ad § & BT R
Lung
A
L2
Dental
B
[EEiEds
Eye
C
=
Kidney
D
st

Correct Ans : A

Subject : General Science

Q.No: 34 Which of the following is NOT an inflammable substance?
2437186

Frofifad & A $ b saeeia (SR Terd et 82

Petrol
A

U

Alcohol
B

WE

LPG
Cc

Tedieht

Oxygen
D

Elcsiced

Correct Ans : D

Subject : General Science

Q.No: 35 Who propounded the theory of evolution?
2439920

faer &1 Rigid fra® gRT faurfed famar m ur?

Charles Darwin

A
=T S
Charles babbage
B
T ST
C
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Charles Metcoff

e AehIw

Johnson Charles

S e
Correct Ans : A

Subject : General Science

Q.No: 36 Choose the correct mirror image/jpg of this combination- CXGDYT642]1
2425697

39 WAIeH @ W81 U0 BT IH- CXGDYT642]1
MERRTYAZDD

MERTYAZ DD
IELTYOAXD

MELTYOdXD
MELTYZDAD

LT Y ZDdD
ICETYADZD

MCLOTYADXD
Correct Ans : D

Subject : General Reasoning

Q-No: 37 Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.
2426307
REASON : EIDRVN :: BEGUM : ?

I 3HER-TIE BT TG PN Sl T eR-TE 4 I TSR Gaifid § O GO AeR-Tg, Tedl SHER-97g § Hafdd gl

REASON : EIDRVN :: BEGUM : ?

SGHMJ
A

SGHM)

uioL
B

uIioL

unoL
C

UHNKI

UHNKI
D

UJKPM

Correct Ans : B

Subject : General Reasoning

Q.No: 38 Select the option /number which is related to 31 number in the same way as 2% number is related to a
2426435 |t number?

8§:26::28:7

3 TEAT /EAHeT A T FL A Y TEA F 3 THR FaOT § S g@l TEA gel

e ¥ weaeg |
8:26::28:?
81
A
81
R9
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89

84
C

84

86
D

86

Correct Ans : D

Subject : General Reasoning

Q.No: 39 Which of the following diagram indicates best relation between Fuel, Coal and Petroleum?

2426750
Frofiia & A S a1 R $eH, Praar SR AR F i g oy Fey ) gl 82
A
B
c
D

Correct Ans : C

Subject : General Reasoning

Q.No: 40 Which of the following diagram indicates best relation between Air, Water and Soil?
2426800

Frofafa & 3 S a1 ok arg, 9a 3R ) & o9 999 oy Taler oY g2far 82

A
B
c
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© of

Correct Ans : B

Subject : General Reasoning

Q.No: 41 Pointing to a woman in the photograph, Raveena said, “Her son’s father is the son-in-law of my father.” How is Raveena related to the woman?
2429569

TR ¥ U AR F IR IR FRA gL, A A T, "IG% T F e W R F gme 1 1 39 A A 75w veR el 82

Mother
A
Hrdr
Sister
B
Rzl
Grandmother
C
S/
Aunt
D
e

Correct Ans : B

Subject : General Reasoning

Q.No: 42 Neeraj walked 20 m towards east, took a right turn and walked 10 m. Then he took a left turn and walked 20 m. in which direction is he now from the starting point?
2429676

ket gd Bt 3R 20 Hiex Fea g, ¢ g ¢ 3R 10 Hex Tadr 21 fR 98 §1¢ 5o ¢ SR 20 Hex Ted §1 95 o RN g & frw R d @2

NORTH-EAST
A

IR

WEST -SOUTH
B

ofm-afm

SOUTH -EAST
(o]

aho-gd

SOUTH -WEST
D

afR-ufym
Correct Ans : C

Subject : General Reasoning

Q.No: 43 In the following question, a certain series of numbers or letters is given of which one series is empty. You have to decide which of the alternative series of the answer will be us
2433139 the blank space that is originally related to the sequence of that series.

Al, 726, B2, Y25, C3, X24, D4, W23, E5, V22, ?,?

FrafaRea gy 8, Temst ar sierl 31 te AT dem & T 7, ol 3w e Tl §1 1wl 98 7@ B3 © 5 TE wU 9 39 T & g I Gaid e =M § IR 3 $F A 5 gae
JUART fepan s

A1, 726, B2, Y25, C3, X24, D4, W23, E5, V22, ?, ?
A F6, S19

https://mppeb.cbexams.com/MPPEB_Cand_Objections/PCRT_obj_adminpanel/Final_Model_Answer.aspx 14/36
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F6, S19

F6, V22
B

F6, V22

F6, T20
C

F6, T20

F6, U21
D

F6, U21

Correct Ans : D

Subject : General Reasoning

Q.No: 44 Select the figure that will come next in the following figure series.

2434132

A

A

Q

&%

0

0

O

O

I 3P &1 797 X S Fufifed sty gwen # o s

A

Q

&%

0

0

O

O

@)

X

A
O
AD
O
BO
*
C*

https://mppeb.cbexams.com/MPPEB_Cand_Objections/PCRT_obj_adminpanel/Final_Model_Answer.aspx
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O
O

Correct Ans : B

Subject : General Reasoning

Q.No: 45 Select the option that will come next in the given series.

2434164
X X
a
2 ?
x X
o a
I ey &1 94 B N f T e F M S
X X
a
2 ?
X X
[w] a
=]
X
A
a
X
a
X
B
a
X
C
[m] X
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Correct Ans : B

Subject : General Reasoning

Q.No: 46 Select the letter-cluster that can replace the question mark (?) in the following series.

2434362
DPI, BME, ZJA, XGW, ?
Frofafea sae ¥ 39 s1eR-TYg B 709 B o Uy g (7) 31 ufoenfid o g 31
DPI, BME, ZJA, XGW, ?
uct
A
uct
VDT
B
VDT
vcs
C
vcs
VDS
D
VDS

Correct Ans : D

Subject : General Reasoning

Q.No: 47 Three of the following four letter clusters are alike in a certain way and one is different. Find the odd one out.

2435022
FrafifEa TR eigr wgl # ¥ dF te (fda ®F 3 wE § ok ' e 7| fawm g
JINSY
A
INSY
GIMP
B
GIMP
CGLR
C
CGLR
EINT
D
EINT

Correct Ans : B

Subject : General Reasoning
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Q.No: 48 In the following question, select the odd number pair from the given alternatives.

2435064
Froffaa gy # Ry M e #F | v ven gw o ghu
79 - 16
A
79-16
62-7
B
62-7
92-11
o
92-11
85-13
D
85-13

Correct Ans : B

Subject : General Reasoning

Q.No: 49 Find the odd word/letters/ number from the given alternatives.

2438933

fow Tu faepedi A & fww wsa/ieR e B gfATl

13
A

13

17
B

17

29
c

29

87
D

87

Correct Ans : D

Subject : General Reasoning

Q.No: 50 Mayank said, "My mother is the sister of Rajat’s brother.” What is Rajat’s relation with Mayank?

2439296
TS A Tl "I T T $ WIS B 964 81" I9d BT HGS 9 1 e §?
Cousin
A
TR W
Maternal uncle
B
AT
Uncle
C
Eea
Brother-in-law
D

st

Correct Ans : B

Subject : General Reasoning

Q.No: 51 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440238 |ggically consistent with the main statement.

if my mother cooks dinner, she garnishes extra cheese for me.
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A. my mother cooked the dinner
B. my mother did not cook dinner
C. My food is garnished with extra cheese.

D. My food is not garnished with extra cheese.

few e gy F g1 FUF R IS I8 IR HUF g1 HUAN T BT T T, 98T Uga HYH FT A9 g YA T §, 3R §) YA difbd FU F g1 FUF ¥ WA B
3R B HY A BT W S €, O 98 W o i TR gendt B

A. TR T A 1 T @ SR

B. W i A T 1 G ST S

C. TR o ifafad TR & o ma 2

D. TRT e sifaf¥ead TR & =76t o m g1

BD
A

BD

BC
B

BC

DA
C

DA

DB
D

DB

Correct Ans : D

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440324 logically consistent with the main statement.

You are either responsible or callous.
A. You are responsible

B. You are not responsible

C. You are callous

D. You are not callous

fow 7T uy # 7T B SR IS 9% IR TUT §1 HU BT B GH G, ST UgA HUT BT add GE HU W B, R Q FU dfdE w9 F g7 $U § T
Mg 71 dt RFRR § 9 HoR|

A. 319 fomeR &

B. 3 fomeR el &

C. 30 R §

D. 34 TR T §

AC

AC
DA

DA
cb

cD
AB

AB
Correct Ans : B

Subject : General Reasoning

Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440395 |ggically consistent with the main statement.

The cards will be distributed by either the HR or the manager

https://mppeb.cbexams.com/MPPEB_Cand_Objections/PCRT_obj_adminpanel/Final_Model_Answer.aspx 19/36
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A. The cards were distributed by the HR
B. The cards were not distributed by the HR
C. The cards were distributed by the manager

D. The cards were not distributed by the manager

fow 1T vy % 781 T SR TP 9IG IR TUA §1 FUT BT B G GH, TR T DUA BT aredd gEX $F 9 §, R QA FUA Afde w0 F 7 FyE § T
BIS A1l A GAIED (HR) 1 YEeS RT Aaka e smar

A, TS HR gR1 faafa g o &

B. IS HR &I fdafd el fb 1w &

C. IS Weu® gRI faaid fbg M

D. T Taew g faika ¢ fFu T &

AB
A

AB

DA
B

DA

CA
C

CA

BD
D

BD

Correct Ans : B

Subject : General Reasoning

Q.No: 54 Select the option that is related to the third term in the same way as the second term is related to the first term.

2441946
GPLC : INNA :: WIDZ : ?
I faped &1 70 B Sl AR U F I TeR Hald § O TR g U8 Ted U 3 Wl © |
GPLC : INNA :: WIDZ : ?
YGGX
A
YGGX
YHFX
B
YHFX
YGFX
C
YGFX
YHGX
D
YHGX

Correct Ans : C

Subject : General Reasoning

Q.No: 55 Find the related word from the given alternatives.

2442028
Plant : Grow
feq g fopedi & Heiftd Wz F1d B
e : I
A Pint: Liquid
fie: e
B Fire : Burn
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ST = SeT

c Struggle : Victory
g : fer

D Wood: Steel
qHG : T

Correct Ans : B

Subject : General Reasoning

Q.No: 56  gimplify: 424- [64 + {21 - 3(34-42)}]

2422380

A BING: 424 - [64 = {21 - 3(44 - 42)}]

375
A

375

490
B

490

345
[

345

576
D

576

Correct Ans : C
Subject : General Maths

Q.No: 57  What number must be added to each term to the ratio 64 : 81 to make the ratio 8 : 9 ?

2429443
TS UG H 64 : 81 & SIUN H BIF W GBI SIS S AR i SR 8 : 9 T Sw?
21
A
21
22
B
22
15
o
15
72
D
72

Correct Ans : D
Subject : General Maths

Q.No: 58 A grocer wishes to sell a mixture of two variety of tea worth Rs.26 per Kg. In what ratio must he mixed the tea to reach the selling price.
2432729

T AT e < YR 3 9 & Mo B Bd 26 . o 6w 9 Gear 31 ot g0 96 ugEn & e 39 91 @1 59 s # M =i 2

5:1
A
5:1
5:6
B
5:6
5:3
C
5:3
5:4
D
5:4
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Correct Ans : B

Subject : General Maths

Q.No: 59 A 50 liter mixture of containing 10% honey, how much honey should be added to it so that the new mixture contains 25% ?

2432733
10% 6T a1t 50 wliex s # fan e fAramr S wifey anfds g fvsor d 25% g2
13L

A
13L
10L

B
1oL
5L

[«
5L
7L

D
7L

Correct Ans : B

Subject : General Maths

Q.No: 60 The ratio of milk and sugar in the container is 2:3 when 20L of the mixture is taken out & is replaced by the sugar the ratio becomes 3:4. Then total quantity of the mixture in
2432760 container is

FeR A gy SR A &7 oFguTa 2:3 § S fyyor 1 20 eitex Pepran S ¥ SR FR gRY wfRiG R S @ @ Srurd 3: 4 € S 21 SR § fisyor Bt e 7R

90
A

20

80
B

80

60
C

60

70
D

70

Correct Ans : B
Subject : General Maths

Q.No: 61 What should comein place of question mark in the following number series?
2433077
38x624

303 0f160

FrafafE sear-sEer § wateg (2) % w0 I T amaneg?

38x624 _,
303t 0f160

491

491
490

490
494

494
496

496
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Correct Ans : C

Subject : General Maths

Q-No: 62 \What should comein place of questionmark in the following number series?

2433096
2 X324 x?=9% x222 X6
ot dear-gaar § vt (2) % w97 9% 1T AT Ang?
2 X324 x?=9% x222 x6
366
A
366
364
B
364
359
Cc
359
363
D
363

Correct Ans : D

Subject : General Maths

Q.No: 63 Find the average of the six numbers 22, 24, 32, 40, 36, and 38.

2433837
: TEsh 22, 24, 32, 40, 36 SR 38 @1 Sigd Fd PRI
30
A
30
32
B
32
34
c
34
24
D
24

Correct Ans : B
Subject : General Maths

Q.No: 64 The average score of 10 students on an examination is 60. By including one student, the average score becomes 62. Find the marks of that student.
2433878

TH Wel § 10 TE $1 ST 3% 60 21 UF BH FI M B3 Y SR 3fF 62 §1 91l §1 39 BF & 3 I Pifom|

60
A

60

82
B

82

84
c

84

85
D

85

Correct Ans : B

Subject : General Maths

https://mppeb.cbexams.com/MPPEB_Cand_Objections/PCRT_obj_adminpanel/Final_Model_Answer.aspx 23/36

Page- 23



Q.No: 65

2433003 D2 class, there are 54 students. 33 = % of the number of students are boys and rest girls.

The average score in mathematics of boys is 50% more than that of the girls. If the average
score of all the students is 70, then what is the average score of the boys?

TP BT H 54 FErfl 1 ST &1 6o 1332 % a9 IR ar! a8 fh i §1
TSHI & MM NI S agfeal B ga H 50% 4@ 31 A @ amie
21 3fep 70 B, T TSI BT AT 246 R B2

87

87
20

90
81

81
84

84
Correct Ans : B

Subject : General Maths

Q.No: 66 The average mark obtained by 3 departments is 848. If the average marks obtained by the students of physics department of 15 students is 64 and the average marks of the
2433917 gtydents of chemistry department of 12 students is 72. Find the average marks of the students of Maths department having 9 students.

A9 Ui grr U U T Siad aie 848 ¥ af e Iy F 15 IEN gRI U BT MY 3N 3 64 © IR T fagE Rum & 12 SEI $ i o 72 81 T Ry & 9 BT % 3 3k
Pl

80

80
78

78
81

81
74

74
Correct Ans : A
Subject : General Maths

Q.No: 67 5 ify- (14— +7
2433096 Simplify: (14-8)x(3+7)

TRA PITE (14-8) x 3+7)

60
A

60

67
B

67

88
c

88

89
D

89
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Correct Ans : A
Subject : General Maths

Q.No: 68 Evaluate: 37.188+3.6.

2433984
T 10 HITeIC: 37.188 = 3.6.
9.8
A
9.8
9.66
B
9.66
10.33
C
10.33
116
D
11.6

Correct Ans : C
Subject : General Maths

Q.No: 65 Alloy A contain 40% copper and rest is tin. Alloy B contain 74% copper; 10% tin & rest are impurities. In which ratio both alloys are mixed so that in new mixture % of tin will
2434844 35047

fhrsreg A 7 40% diar iR @@t o1 31 fwierg B / 74% diar 10% o1 iR wrat orgfSat 1 [ srgura & ST iy wig 1 fivaman S arfes =g forsyor 7 fos1 &1 wfewra, 25% & wee

3:7
A

3:7

3:5
B

3:5

2:3
C

: 3

4:3
D

4:3

Correct Ans : A
Subject : General Maths

Q.No: 70 Distribute Rs 1710 in the ratio 7 : 13 : 37

2435363
1710 WA HI 7 1 13 : 37 $ U | fdakd a3
210, 390, 1110
A
210, 390, 1110
110, 350, 1000
B
110, 350, 1000
100, 300, 980
C
100, 300, 980
150, 390, 1110
D

150, 390, 1110
Correct Ans : A
Subject : General Maths
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Q.No: 71 If in a symbolic language ‘TEACHING" is written *CHEATING” then *GRADIENT” will be written in the same language as?
2422560

g fdt widhfaes yon & 'TEACHER' &) 'CHEATING' feRaT STC df 'GRADIENT' &1 it w1  ferar smeam fordf?

DIRAGENT
A

DIRAGENT

DIAGRENT
B

DIAGRENT

DIERATING
C

DIERATING

RATIGEND
D

RATIGEND

Correct Ans : A
Subject : Mental Ability

Q.No: 72 In a row of 40 patients, Nia is 26% in row from right end & Sonia is 12% from left end. How many
2425566 : .
patients are between them.

40 AT P T AR # Frr <l BR 9 263 IR Wi a8 BR A 81 ST o fbe A 82

3
A

3

1
B

1

7
C

7

2
D

2

Correct Ans : D
Subject : Mental Ability

Q.No: 73 In a row of 35 students, A is 10% from right end. Then find the rank of A from left end.

2425602
35 B &1 To Ui H A TR BR ¥ 108 ®F R T T 9 BRI A 31 I$ 19 BIfe1g?
26
A
26
27
B
27
29
c
29
25
D
25

Correct Ans : A
Subject : Mental Ability

Q.No: 74
2429616
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Two positions of the same dice are shown. There are six symbols on the cube thatis ¥, =, y, p, B,
%, what will be in front of symbol p?

£ B

e 1 O T 2 srerarer Ul fars a1 319 W T REay o, n, 06,5 21
e p& |HT F4T 3|

b B

e
A

jee)
B

hX
C

¥

p
D

p

Correct Ans : A
Subject : Mental Ability

Q.No: 75 From the given option, which answer figure can be made based on the unfolded cube in the question figure?
2433359

fRw e fiwer & A vy onefd H QA O & MUR R HIFA-8! IR AP 18 o IHell 82

8
v | 10| 1s
10
y 5
A
10
y S
B
B
a Y
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B
a Y
15
y B
Cc
15
y B
10
Y 44
D
10
Y a

Correct Ans : D
Subject : Mental Ability

Q.No: 76 In a certain code language, TEST is written as SUDFRTSU. How will STAFF be written as in that language?

2434428
T ffd Fe U1 &, TEST & SUDFRTSU & &4 A foran 91 31 o It e T & STAFF &I &4 foran smemm?
RTSUZBEGGE

A
RTSUZBEGGE
RTSUZBEGEG

B
RTSUZBEGEG
TRUSBZEGEG

c
TRUSBZEGEG
RTSUZBGEGE

D
RTSUZBGEGE

Correct Ans : B

Subject : Mental Ability

Q.No: 77 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at variance with commonly known
2435514 decide which of the given conclusions logically follow(S) from the statements.

Statements:All red are yellow.

All yellow are brown.

Conclusions:I. Some yellow are red.
II. Some brown are red.

III. Some red are not brown.

1V. All brown are yellow.

fou T ot 3R Frwl B AHYES Ug | T8 WG gU [ Sl 7 € TE MR et €, YA € a8 aeTeId: T aet & 9 AR awdt |1, 7 fvfa o 7 gy T frsst 7 9§ o /3 e anfd
F AT T FYT BT TR A 3/3 1

DY

oft T, 9 R
Wi i, 9} 7
sy

1. 9 U, O |
1L $9 3R, @I §|
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111 $© T, 3R el 8]
Iv. Wit oy, da g

Only conclusion I and II.

A

e frepd 1 9fR 11

Conclusion I, IT and III.
B

A 1, 11 iR 111

Either conclusion I or conclusion II.
C

g1t ey 1 ar s 11

Either conclusion 1I or conclusion III.
D

a1 <t ey xx o s xax

Correct Ans : A
Subject : Mental Ability

Q.No: 78 Which of the following will come in the place of question mark?
2438631
c-bba-cab-ac-ab-ac

Frofafaa & @ o uyaras forg $ RIF W MY ?

c-bba-cab-ac-ab-ac

bcacbh
A

bcacb

babcc
B

babcc

abcbc
(o

abcbc

acbcb
D

acbcb

Correct Ans : D
Subject : Mental Ability

Q.No: 79 Which of the following will come in the place of question mark?
2438642
a_cb_dcd_de_

Frufafea & & T vyares 5 & RIA W s ?

a_cb_dcd_de_
bcef

bcef
befc

befc

bacd

bacd
bcfe

bcfe
Correct Ans : A
Subject : Mental Ability

Q.No: 80 Complete the following series
2438765
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97, 83, 73, 67, 59,

Frofafea ya o g1 5%
97, 83, 73, 67, 59,
53

53
49

49
47

47
51

51
Correct Ans : C
Subject : Mental Ability

Q.No: 81 If book is called newspaper, newspaper is called dictionary, dictionary is called television, television is called magazine and magazine is called computer. Which of the following
2439228 jse find the meaning of a word?

R fara B SREER, SREAR $ fEar, el @1 edifasm, Saifae o Aol ok Aol &1 $uer we1 gl FHofafea & 3 frger 3uam &0 el weg &1 of §e & fog o~ w@a §2

Computer
A

HE

Dictionary
B

RiEcan

Book
C

o

Television
D

efifae

Correct Ans : D
Subject : Mental Ability

Q.No: 82 If 'room' is called 'bed' 'bed' is called 'window', 'window' is called 'flower' and 'flower' is called 'cooler' on what would a man sleep?
2439266

Window
A

fasat

Bed
B

fawr

Flower
C

kSl

Cooler
D

TR

Correct Ans : A
Subject : Mental Ability

Q.No: 83 I am seventh in the queue from either end. How many people are there in the queue?
2439535

7 fordil oft ©R & R H IAd ®F R § $AR § Fa fba afda 82
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10
11

11
13

13
14

14
Correct Ans : C
Subject : Mental Ability

Q.No: 84 Which one word can be formed from the following letters ?

2442878
bck atr op d
Fofafed serl § S O U@ Xsq SR S ol 82
bck atr op d
banknote
A
banknote
backdropt
B
backdropt
bankrupt
C
bankrupt
blinders
D
blinders

Correct Ans : B
Subject : Mental Ability

Q.No: 85 Arrange the following words according to dictionary arrangement:

2443044
a. Epitaxy b. Episode c.Epigene d. Epitome e.Epilogue
Fofafad eal B AsadI TaR F TR HIRYT Fifg:
a. Epitaxy b. Episode c.Epigene d. Epitome e.Epilogue
A a,b,cd e
a,b,cd, e
B c,eb,a d
c,eb,ad
c e, d, b,a c
e d, b, ac
D c, b,e d a

¢, be d a
Correct Ans : B
Subject : Mental Ability

Q.No: 86 167 men can complete the electric fitting in a building in 57 days. How many days will it take if 90 men do the job?
2423705

167 SMEH Ua SHRA # faoret ot e ot 57 farfi # g0 3% 99d §1 90 SMeH 39 &M 3 e f§71 § sar
9519/90 days

9519/90 faq
1882/5 days

1882/5 f&q
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C 543/23 days

543/23 faq
3245/18 days

3245/18 f&A
Correct Ans : A
Subject : General Aptitude

Q.No: 87 A cistern can be filled by one tap in 15 hours, and by another in 17 hours How long will it take to fill the cistern if both taps are opened together?
2423727

T S B TF A 15 F2 F 3R GO A 17 6 H WR Wapal B A P A Y U Wiy Wit v g o ¢ Y R H o wmg enme
431/12 hours

A
431/12° W
255/32 hours
B
255/32 6
242/27 hours
c
242727 @
349/21 hours
D

349/21 92
Correct Ans : B

Subject : General Aptitude

Q.No: 88 Find the parallelogram’s area if its base is 19.8 cm and height is 5.4 cm.
2426248

gfe; T MR 19.8 I § SR 1S 5.4 Ve ¥ A AHIR F & $T yar T

60.6 cm?
A

60.6 TR

51.55 em?
B

51.55 {HE

106.92 em?
[

106.92 d#®

45.77 cm?
D

45.77 {2

Correct Ans : C

Subject : General Aptitude

Q.No: 89 Calculate the trapezium’s height if length ofits two parallel sides are a=12.4 cm and b= 15.6 cm and
2426263 4re) is 185 cm?.

T A & GATCR Jail Al eldis a = 12.4 {7 3R b = 15.6 JAT § 3117 a7 185 e §ar Nforaw

Y TS AT 0T FI
23.44 cm
A
23.44 ¥
13.21 cm
B
13.21 ¥R
C 9.77 cm
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9.77 JéfieR

12.47 cm

12.47 ¥R

Correct Ans : B

Subject : General Aptitude

Q.No: 90 If the hemisphere’s radius is 10.5 cm then, calculate the hemisphere’s surface area.

2426269

Ife T @1 B 10.5 A §, @ s & T &F B0 BRI

12182 em?
A

12182 TR

1562.4 cm?
B

1562.4 {#R:

2158.9 cm?
C

2158.9 &R

1039.5 cm?
D

1039.5 d#R

Correct Ans : D

Subject : General Aptitude

Q.No: 91 A268452379778 is divisible by 12 find the value of A and B?

2427675
A268452379778, 12 A fausa § A 3R B &7 9 F1d iR
2,2
A
2,2
8,4
B
8,4
9,3
c
9,3
4,2
D
4,2

Correct Ans : A

Subject : General Aptitude

Q.No: 92 A certain number of books were purchased for Rs.300. Five more books could have been purchased in the same amount if each book was cheaper by Rs.10. The number of bo
2431243 pyrchased was:

300 ¥. ¥ & fae @l w1 I vl & uig iR frard wdidl s wadt off, afe vde e @1 ged %10 A gl @l 1w el ot e o

CoB
o B
B
o B

Correct Ans : C

Subject : General Aptitude

Q.No: 93
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2434582 The numbers of visitors every hour in a shop from 1 p.m. to 8 p.m. on Monday were recorded as 7, 10, 15, 22, 6, 4 and 13. Find the arithmetic mean of visitors.

THAR BT FUeR 1 79 F I 8 99 7% TP P H X U SANGDH! B TBM BN 7, 10, 15, 22, 6, 4 3R 13. & T F Tof &1 a1 o7 | il @t TSI BT FHAIR H1 J1d BT |

9
A

9

11
B

11

10
C

10

13
D

13

Correct Ans : B
Subject : General Aptitude

Q.No: 94 Find the perimeter of a rhombus whose diagonals are 6 cm and 8 cm long.

2434660

TF GHAgES B oREd Jd B R el 6 S iR 8 S e A 1

20 cm
A

20 ¥

40 cm
B

40 &t

30 cm
C

30 ¥t

28 cm
D

28 o

Correct Ans : A

Subject : General Aptitude

Q.No: 95 If A, B and C can do a job working alone in 12, 18 and 36 days respectively. They all work together for 3 day, then B quits. How many days will A and C take to finish rest of th
2436060

A, B3I C e o &1 HIe: 12, 18 9iR 36 A A TR ad €14 It 3 37 9% tF W1y & 30 ¢ 3R R B F11 SIS <1 §1 39 $M Bl T F3 & T A qUT C P {1 T qipme?

9 days
A

o faT

4.5 days
B

4.5

3.5 days
C

3.5fF

5 days
D

s

Correct Ans : B

Subject : General Aptitude

Q.No: 96  If the sum of a number and its reciprocal be 2, then the number is—
2436168

R TP GO 3R IS Gehd $1 AN 2 §, o 98 G 2-
A (1]
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1
B

1

-1
C

-1

2
D

2

Correct Ans : B

Subject : General Aptitude

Q.No: 97 The sum of ages of father and son is 62 years. If 7 years ago father’s age was 5 times of his son’s age. The age of son after 6 years will be?
2436906

T i o) O @t oy T A 62 Y § afk 7 o ugd i Y oy Iud gF g 1 5 P o @ 6 @ a1 9T 3 emg n gl

20 years
A

20 T

21 years
B

219

8 years
C

s

15 years
D

15 af

Correct Ans : B

Subject : General Aptitude

Q.No: 98 The ratio of Asha’s age 4 years ago and Aisha’s age after 4 years is 1: 1. Presently, the ratio of their ages is 5: 3. Find the ratio between Asha’s age 4 years hence and Aisha’s
2436920 years ago.

4 T UE MMM B MY IR 4 9 & TG VA ST 31 T SFUA 1: 1 7, TAAM H ITP 3 FT 3701 5: 3 ¥l 4 3 T2 (120 B} 317 3R 4 T vgd ;0 BV o1 T 34U I B

1:3
A

1:3

3:1
B

3:1

4:3
C

4:3

3:4
D

3:4

Correct Ans : B

Subject : General Aptitude

Q.No: 99 What is the greatest number that will exactly divide 96,528 and 792.
2436957

9% eI S9! 4B &1 gt S 96,528 SR 792 &I yuiaan i Syl
24

24
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12

48
C

48

96
D

96

Correct Ans : A

Subject : General Aptitude

Q.No: 100 What will come in place of Question mark (?) in the following number series?

2444635
4,8, 11,22, 18, (?), 25, 50
Fofafea Tem yumd § uyarEe fag (2) & A R 1 3R
4,8, 11, 22, 18, (?), 25, 50
36

A 36
35

B 35
46

¢ a6
56

b 56

Correct Ans : A

Subject : General Aptitude
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